CorrectionTP2 : Deuxieme version

___________________________________________________________________________

public class Ensentier {

    private boolean[] e;

    private int nb ;

    public Ensentier(int n) 

    {

        e = new boolean[n];


    }

    public int taille()

    {

        return nb;

    }

    public boolean estVide() 

    {

        int i;


  for(i=0;i < e.length && !e[i];i++)



;


   return i == e.length;

    }

    public boolean appartient(int v) 

    {


if(v < 0 || v >= e.length) 



return false;


return e[v];

    }

    public void inserer(int v) 

    {


if(v < 0 || v >= e.length) 



return;


e[v] = true;


nb++;

    }

    public void oter(int v) 

    {


if(v < 0 || v >= e.length()) 



return;


e[v] = false;


nb--;

    }

    public String toString() 

    {


  StringBuffer s = new StringBuffer(e.length);

        s.append("{");


  for(int i=0;i< e.length;i++)



if(e[i]) s.append(" "+i);


  s.append("}");

        return s.toString();

    }

    public Ensentier intersection(Ensentier e2) 

    {

        if(e.length != e2.e.length)

            throw new IllegalArgumentException("Taille non identiques");

        Ensentier res = new Ensentier(v.length);


  for(int i=0;i < e.length;i++)



res.e[i] = e[i] && e2.e[i];

        return res;

    }

    public Ensentier union(EnsEntier e2) 

    {

        if(e.length != e2.e.length)

            throw new IllegalArgumentException("Taille non identiques");


  Ensentier res = new Ensentier(e.length);


  for(int i=0; i < e.length;i++)



res.e[i] = e[i] || e2.e[i];

         return res;

    }   

    public boolean equals(EnsEntier obj)

    {

        if(e.length != obj.e.length)

           throw new IllegalArgumentException("Taille non identiques");

        for(int i=0;i < e.length;i++)

            if(e[i] != obj.e[i])

               return false;

        return true;

    }

}

public class TP2main

{

public static void main(String[]args){

        final int TAILLE = 50;

        Ensentier table=new Ensentier(TAILLE);

        for(int i=0;i<12;i++)

            table.inserer((int)(Math.random()*TAILLE));

        System.out.println(table);

        Ensentier autre=new Ensentier(TAILLE);

        for(int i=0;i<7;i++)

            autre.inserer((int)(Math.random()*TAILLE));

        System.out.println(autre);

        System.out.println("intersection : "+autre.inter(table));

        System.out.println("union : "+autre.union(table));

    }

}

